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Class 11 Mathematics
FBISE Paper 2018 Overseas

Solved MCQs

1. In a matrix A = ൥
1 4 7
2 5 8
3 6 9

൩ what is value of A12?

A. 9 B. −9 C. 6 D. – 6

2. If 𝑟 = 𝑛 or 𝑟 = 0 what is the value 𝑜𝑓 𝑛𝐶𝑟 ?

A. 0 B. r C. 1 D. n

3. What is the value of 2
1−i ?

A. 2(1 + 𝑖) B. 2(1 − 𝑖) C. 1 + 𝑖 D. 1 − 𝑖

4. If set 𝐴 has 5 elements, then how many binary relations are in 𝐴 × 𝐴 ?

A. 225 B. 225 − 1 C. 25 D. 25

5. If A is a matrix of order m × n and B is matrix of order n × l, then what is order of matrix
A × B ?

A. 𝑚 × 𝑛 B. 𝑙 × 𝑚 C. 𝑙 × 𝑛 D. 𝑚 × 𝑙

6. What is the product of roots of quadratic equation x2 − 3x + 6 = 0 ?

A. 6 B. −6 C. 3 D. −3

7. What is the partial fraction of 7x+25
൫x+3൯(x+4) ?

A.
4

𝑥+3
− 3

𝑥+4
B.

4
𝑥+4

− 3
𝑥+3

C.
4

𝑥+3
+ 3

𝑥+4
D.

4
𝑥+4

+ 3
𝑥+3

8. What is the sum of infinite G.P 2, √2, 1, … ..?

A. 4 − √2 B. 4 + 2√2 C. 2√2 D. 2 + 2√2

9. What is the value of r! n Cr ?

A. n+1Pr B. n – 1Cr C. nPr D. n + 1Cr

10. For what value of 𝒏 the expression 𝟑𝒏 > 𝑛! is UNTRUE if 𝒏 ∈ 𝒁 ?

A. 𝑛 = 6 B. 𝑛 = 7 C. 𝑛 = 2 D. 𝑛 = 3
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11. Which of the following angles are coterminal?

A.
𝜋
3

, 4𝜋
3

B.
𝜋
3

, 5𝜋
6

C.
𝜋
3

, 13𝜋
3

D.
5𝜋
3

, 𝜋
3

12. What is the value of tan3θ ?

A.
3𝑡𝑎𝑛𝜃+𝑡𝑎𝑛3𝜃

1+3𝑡𝑎𝑛2𝜃
B.

3𝑡𝑎𝑛𝜃−𝑡𝑎𝑛3𝜃
1−3𝑡𝑎𝑛2𝜃

C.
3𝑡𝑎𝑛𝜃+𝑡𝑎𝑛3𝜃

1−3𝑡𝑎𝑛𝜃
D.

3𝑡𝑎𝑛𝜃−𝑡𝑎𝑛3𝜃
1+3𝑡𝑎𝑛𝜃

13. What is the period of 3cos x
5 ?

A. 13𝜋 B. 10𝜋 C.
15𝜋

3
D.

13𝜋
5

14. What is the range of function 𝑦 = 𝑐𝑜𝑡𝑥 ?
A. −1 < 𝑦 < 1 B. −1 ≤ 𝑥 ≤ 1 C. −∞ < 𝑥 < ∞ D. −∞ < 𝑦 < ∞

15. What is the value of 𝑟2 ?
A. 𝑆 𝑡𝑎𝑛 𝑟

2
B. 𝑆 𝑡𝑎𝑛𝛽 C. 𝑆 𝑡𝑎𝑛 𝛼

2
D. 𝑆 𝑡𝑎𝑛 𝛽

2

16. What is solution set of 1 + 𝑐𝑜𝑠𝑥 = 0 for complete period?
A. {−𝜋 + 𝑛𝜋} B. {𝜋 + 𝑛𝜋} C. {−𝜋 + 2𝑛𝜋} D. {𝜋 + 2𝑛𝜋}

17. What is the area of triangle in Square Units if 𝒃 = 𝟐𝟏. 𝟔 𝒄 = 𝟑𝟎. 𝟐 𝜶 = 𝟓𝟐°𝟒𝟎′ ?

A. 295.3 B. 952.3 C. 259.3 D. 529.3

18. A die is rolled, what is the probability that dots on top are greater than 4?

A.
1
6

B.
1
3

C.
1
2

D.
1
4

19. What is the multiplicative inverse of 𝟏 + 𝟐𝒊 ?

A.
1

√5
(1 − 2𝑖) B.

1
5

(1 − 2𝑖) C.
1
5

(1 + 2𝑖) D.
1
4

(1 − 2𝑖)

20. What is the value of tan−1 𝑥 ?
A.

𝜋
2

+ cot−1 𝑥 B.
𝜋
2

+ tan−1 𝑥 C.
𝜋
2

− cot−1 𝑥 D.
𝜋
2

− tan−1 𝑥


